COUNTY OF SANTA BARBARA DEPARTMENT OF PUBLIC WORKS RESOURCE RECOVERY AND WASTE MANAGEMENT DIVISION



CONTRACT

FOR

TAJIGUAS SANITARY LANDFILL
GROUNDWATER PROTECTION SYSTEM PHASE IIIF
CONSTRUCTION PROJECT
IN THE THIRD SUPERVISORIAL DISTRICT

COUNTY PROJECT NO. 828396

SCOTT D. MCGOLPIN
DIRECTOR OF PUBLIC WORKS

COUNTY OF SANTA BARBARA AGREEMENT FOR:

COUNTY PROJECT NO. 828396

Auditor-Controller	Contract No.	

THIS AGREEMENT, herein called Agreement, is made by and between the County of Santa Barbara, a political subdivision of the State of California, herein called County, and Raminha Construction, Inc., herein referred to as Contractor, for the completion of the work identified herein, on the following terms, conditions, and provisions:

1. CONTRACT

This Agreement includes and incorporates by reference all Contract Documents.

The Contract is comprised of all documents distributed to bidders as part of the Bid Package, including, but not limited to:

- 1. Notice to Bidders and Special Provisions
- 2. Project Plans
- 3. State of California, Department of Transportation 2018 Standard Specifications as modified by County Provisions
- 4. State of California, Department of Transportation 2018 Standard Plans
- 5. State of California, Department of Transportation 2018 Revised Standard Specifications
- 6. County of Santa Barbara, Department of Public Works, Standard Details dated September 2011
- 7. Santa Barbara County Code
- 8. Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished
- 9. The Bid Book/Proposal executed and submitted by the Contractor
- 10. Notice to Bidders
- 11. The Faithful Performance and Payment Bonds, and
- 12. Any Addenda or Change Orders

The Contractor acknowledges receipt of all such documents as were not already in the Contractor's possession. Said incorporated documents are referred to herein as the "Contract" or "Contract Documents".

Copies of all said documents are on file in the Department of Public Works Office of the County and have been and will be made available to the Contractor during the term of this Agreement.

The Special Provisions for the work to be done are entitled:

COUNTY OF SANTA BARBARA; NOTICE TO BIDDERS AND SPECIAL PROVISIONS FOR TAJIGUAS SANITARY LANDFILL GROUNDWATER PROTECTION SYSTEM PHASE IIIF CONSTRUCTION PROJECT IN THE THIRD SUPERVISORIAL DISTRICT

The project plans for the work to be done are entitled:

COUNTY OF SANTA BARBARA DEPARTMENT OF PUBLIC WORKS
RESOURCE RECOVERY AND WASTE MANAGEMENT DIVISION
TAJIGUAS SANITARY LANDFILL GROUNDWATER PROTECTION SYSTEM PHASE IIIF
CONSTRUCTION DRAWINGS PROJECT NO. 828396

2. WORK

Contractor agrees, at his own proper cost and expense, to do all the work and furnish all equipment and materials, except such as mentioned in the specifications to be furnished by the County, necessary to perform and complete the work described in the documents referred to above, in a good and workmanlike manner to the satisfaction of the Director of Public Works of said County, all in strict accordance with the Plans and the Contract Documents provided.

3. TERM

The Contractor shall complete work in 44 working days and in accordance with 8-1.04B.

4. PAYMENTS NOT ACCEPTANCE

No certificate given or payments made under this Contract shall be evidence of the performance of this Contract, either wholly or in part, against any claim upon Contractor. Final payment for the work performed under this Contract shall not be made until the lapse of thirty (30) days after the Notice of Completion of said work has been filed for record and no payment shall be construed to be acceptance of any defective work or improper materials. Contractor's acceptance of payment for final quantities due under this Contract and the payment of undisputed contract amounts due for any work in accordance with any amendments of this Contract, shall release the County from any and all claims or liabilities on account of work performed under this Contract or any amendments thereof related to those amounts. In addition to guarantees required elsewhere, Contractor shall and does hereby guarantee all workmanship and material to be free of defects for a period of one year from and after the recordation of the Notice of Completion by the County, and Contractor shall repair or replace any or all work and material, together with any other portions of the work which may be displaced in so doing, that in the opinion of the Engineer, is or becomes defective during the period of said guarantee without expense whatsoever to the County.

5. PAYMENT

As full compensation for furnishing all labor, supervision, overhead, materials, and equipment and for doing all the work completed and embraced in this Agreement and subject to adjustments and liquidated damages, if any, as provided in the Contract Documents, the base amount to be paid to the Contractor for satisfactory completion of all requirements of the Contractor under this Agreement is and shall be \$1,213,320.00, to be paid as provided in the Contract Documents.

The Engineer is authorized to order, as change order work, the performance of supplemental work itemized in the attached Estimate of Job Costs, totaling \$75,000.00 to be paid as provided in the Contract Documents. In no event shall the County be liable for the cost of any supplemental work unless approved in advance and in writing by the Engineer.

The Engineer is authorized to order, as change order work, changes and additions to the work being performed under this contract in an amount not to exceed \$76,916.00 (Contingency) in accordance with California Public Contract Code Sections 20142 and 20395, as applicable, to be paid as provided in the Contract Documents.

6. CONFLICT OF INTEREST

Contractor covenants that Contractor presently has no employment or interest and shall not acquire any employment or interest, direct or indirect, including any interest in any business, property, or source of income, which would conflict in any manner or degree with the performance of services required to be performed under this Agreement. Contractor further covenants that in the performance of this Agreement, no person having any such interest shall be employed by Contractor. Contractor must promptly disclose to County, in writing, any potential conflict of interest. County retains the right to waive a conflict of interest disclosed by Contractor if County determines it to be immaterial, and such waiver is only effective if provided by County to Contractor in writing.

7. NO PUBLICITY OR ENDORSEMENT

Contractor shall not use County's name or logo or any variation of such name or logo in any publicity, advertising or promotional materials. Contractor shall not use County's name or logo in any manner that would give the appearance that the County is endorsing Contractor. Contractor shall not in any way contract on behalf of or in the name of County. Contractor shall not release any informational pamphlets, notices, press releases, research reports, or similar public notices concerning the County or its projects, without obtaining the prior written approval of County.

8. COUNTY PROPERTY AND INFORMATION

All of County's property, documents, and information provided for Contractor's use in connection with the services shall remain County's property, and Contractor shall return any such items whenever requested by County and whenever required according to the Termination section of this Agreement. Contractor may use such items only in connection with providing the services. Contractor shall not disseminate any County property, documents, or information without County's prior written consent.

9. RECORDS, AUDIT, AND REVIEW

Contractor shall keep such business records pursuant to this Agreement as would be kept by a reasonably prudent practitioner of Contractor's profession and shall maintain such records for at least four (4) years following the termination of this Agreement. All accounting records shall be kept in accordance with generally accepted accounting principles. County shall have the right to audit and review all such documents and records at any time during Contractor's regular business hours or upon reasonable notice. In addition, if this Agreement exceeds ten thousand dollars (\$10,000.00), Contractor shall be subject to the examination and audit of the California State Auditor, at the request of the County or as part of any audit of the County, for a period of three (3) years after final payment under the Agreement (Cal. Govt. Code Section 8546.7). Contractor shall participate in any audits and reviews, whether by County or the State, at no charge to County.

If federal, state, or County audit exceptions are made relating to this Agreement, Contractor shall reimburse all costs incurred by federal, state, and/or County governments associated with defending against the audit exceptions or performing any audits or follow-up audits, including but not limited to: audit fees, court costs, attorneys' fees based upon a reasonable hourly amount for attorneys in the community, travel costs, penalty assessments, and all other costs of whatever nature. Immediately upon notification from County, Contractor shall reimburse the amount of the audit exceptions and any other related costs directly to County as specified by County in the notification.

10. SEVERABILITY

If any one or more of the provisions contained herein shall for any reason be held to be invalid, illegal or unenforceable in any respect, then such provision or provisions shall be deemed severable from the remaining provisions hereof, and such invalidity, illegality or unenforceability shall not affect any other provision hereof, and this Agreement shall be construed as if such invalid, illegal or unenforceable provision had never been contained herein.

11. ENTIRE AGREEMENT AND CHANGE ORDERS

In conjunction with the matters considered herein, this Agreement contains the entire understanding and agreement of the parties and there have been no promises, representations, agreements, warranties, or undertakings by any of the parties, either oral or written, of any character or nature hereafter binding except as set forth herein. This Agreement may be altered, amended or modified only by an instrument in writing, executed by the parties to this Agreement and by no other means. Each party waives their future right to claim, contest or assert that this Agreement was modified, canceled, superseded, or changed by any oral agreements, course of conduct, waiver or estoppel.

12. COMPLIANCE WITH LAW

Contractor shall, at its sole cost and expense, comply with all County, State, and Federal ordinances and statutes now in force or which may hereafter be in force with regard to this Agreement. The judgment of any court of competent jurisdiction, or the admission of Contractor in any action or proceeding against Contractor, whether County is a party thereto or not, that Contractor has violated any such ordinance or statute, shall be conclusive of that fact as between Contractor and County.

13. CALIFORNIA LAW AND JURISDICTION

This Agreement shall be governed by the laws of the State of California. Any litigation regarding this Agreement or its contents shall be filed in the County, if in state court, or in the federal district court nearest to the County, if in federal court.

14. EXECUTION OF COUNTERPARTS

This Agreement may be executed in any number of counterparts and each of such counterparts shall for all purposes be deemed to be an original; and all such counterparts, or as many of them as the parties shall preserve undestroyed, shall together constitute one and the same instrument.

15. AUTHORITY

All signatories and parties to this Agreement warrant and represent that they have the power and authority to enter into this Agreement in the names, titles and capacities herein stated and on behalf of any entities, persons, or firms represented or purported to be represented by such entity(ies), person(s), or firm(s) and that all formal requirements necessary or required by any state and/or federal law in order to enter into this Agreement have been fully complied with. Furthermore, by entering into this Agreement, Contractor hereby warrants that it shall not have breached the terms or conditions of any other contract or agreement to which Contractor is obligated, which breach would have a material effect hereon.

16. SURVIVAL

All provisions of this Agreement which by their nature are intended to survive the termination or expiration of this Agreement shall survive such termination or expiration.

17. PRECEDENCE

In the event of conflict between the provisions contained in the numbered sections of this Agreement and the provisions contained in Section 1, contract documents herein, these numbered sections shall prevail.

CONTRACTOR SIGNATURE PAGE

Agreement for services and work to be performed by Contractor between the County and Contractor.

IN WITNESS WHEREOF, the parties have executed this Agreement to be effective on the date executed by County.

CONTRACTOR:

David Raminha Raminha Construction, Inc. 11505 Halcon Road Atascadero, CA 93422

---- DocuSigned by:

Ву:

David Kaminha

Authorized Representative

License No. 469531 Business Type: Corporation admin@raminha.com (805) 461-0052

Date:

3/6/2023 | 3:44 PM PST

COUNTY SIGNATURE PAGE

Agreement for services and work to be performed by Contractor between the County and Contractor.

IN WITNESS WHEREOF, the parties have executed this Agreement to be effective on the date executed by County.

RECOMMENDED FOR APPROVAL:

Scott D. McGolpin, Director

Director of Public Works

Ву: // СВ / СВ

ATTEST:

Mona Miyasato

County Executive Officer

Clerk of the Board

Deputy Clerk

COUNTY OF SANTA BARBARA:

Das Williams, Chair

Board of Supervisors

Ву:

Chair, Board of Supervisors

Date:

4-4-23

APPROVED AS TO FORM:

Rachel Van Mullem

County Counsel

DocuSigned by:

By: | Johannah Hartley

Johannah Hartley

Deputy County Counsel

APPROVED AS TO FORM:

Gregory Milligan, ARM

Risk Manager

DocuSigned by:

By: Gry Milliga

Risk Management

APPROVED AS TO ACCOUNTING FORM:

Betsy M. Schaffer, CPA

Auditor-Controller

Deputy

Fiscal Responsibility _

Department	Division	Subdivision	Program	Organization Unit	Fund	Account	Area
054			1200	1200	1930	8200	TJLF

BID ITEM LIST

			BASE BID ITEMS	}			
Item No	P-F	Item Code	Description	Unit	Quantity	Unit Price	Item Total
1	-		PROJECT SURVEY	LS	1	\$55,000.00	\$55,000.00
2	· -		SCHEDULING	LS	1	\$5,000.00	\$5,000.00
3	-		MOBILIZATION	LS	1	\$250,000.00	\$250,000.00
4		130200	STORMWATER COMPLIANCE	LS	1	\$7,500.00	\$7,500.00
5	-		TEMPORARY FACILITIES FOR THE CONTRACTOR	LS	1	\$3,000.00	\$3,000.00
6	2&44	160102	CLEARING, GRUBBING, DEMOLITION, AND SALVAGING	AC	3	\$8,000.00	\$24,000.00
7	3		REMOVE AND SALVAGE EXISTING 30" CHDPE CMU DECK DRAIN PIPE FOR REINSTALLATION; REINSTALL 30" CHDPE CU DECK DRAIN FOLLOWING LINER INSTALLATION	LF	1,000	\$10.00	\$10,000.00
8	4		REMOVE AND SALVAGE 12" LFG HEADER PIPE FOR REINSTALLATION	LF	1,500	\$16.00	\$24,000.00
9	16,36 & 6	190185	SUBGRADE EXCAVATION AND FILL TO CONTOURS PER PLAN	SF	70,000	\$0.70	\$49,000.00
10	5	190185	LINER SLOPE SUBGRADE AND REPLACEMENT WITH COMPACTED VENEER FILL MATERIAL/PROOF ROLLING ALL SURFACES WITH A STEEL DRUM ROLLER WEIGHING NOT LESS THAN 200 POUNDS PER LINEAL INCH OF DRUM WIDTH	SF	55,000	\$1.30	\$71,500.00
11	18		PROTECTIVE SOIL COVER – SLOPE (PER DETAIL 1/D1)	SF	25,000	\$2.20	\$55,000.00
12	21		PROTECTIVE SOIL COVER – BENCH (PER DETAILS 4/D1)	SF	22,000	\$2.00	\$44,000.00
13	-		PROTECTIVE SOIL COVER – STOCKPILE	CY	3,250	\$10.00	\$32,500.00
14	27&33	710882	INSTALL SALVAGED 12-INCH LFG HDPE PIPE ABOVE/BELOW GRADE (PER DETAIL 9/D1)	LF	1,500	\$13.00	\$19,500.00
15	32	710882	INSTALL NEW 12-INCH LFG HDPE PIPE ABOVE/BELOW GRADE (PER DETAIL 9/D1)	LF	640	\$75.00	\$48,000.00

			BASE BID ITEMS	6			
Item No	P-F	Item Code	Description	Unit	Quantity	Unit Price	Item Total
16	34		EXTEND NEW 6-INCH HDPE LFG HORIZONAL RISER PIPE TO BENCH 4 (PER DETAIL 5/D4)	LF	820	\$20.00	\$16,400.00
17	35&39		INSTALL NEW 6-INCH HDPE LFG LATERAL PIPING ON GRADE	LF	250	\$27.00	\$6,750.00
18	37		INSTALL TEMPORARY 3-INCH HDPE LFG LATERAL PIPING ON GRADE	LF	380	\$17.00	\$6,460.00
19	41		INSTALL NEW 12" FLANGED BUTERFLY VALVE	EA	1	\$7,000.00	\$7,000.00
20	40		INSTALL NEW 6" FLANGED BUTERFLY VALVE	EA	1	\$1,500.00	\$1,500.00
21	38		DISCONNECT WELLHEAD ON BENCH 3 AND REINSTALL CONNECTION TO HEADER ON BENCH 4	EA	6	\$1,500.00	\$9,000.00
22	44		REMOVE EXISTING HORIZONTAL WELLHEAD; INSTALL HDPE TEE AND EXTEND THE HORIZONTAL WELL UP SLOPE WITH THE REMOVED 3" TEMPORARY PIPING FROM LFG HZ26 COLLECTOR	LF	250	\$25.00	\$6,250.00
23	23		INSTALL BENCH SUBDRAIN (PER DETAIL 1/D4)	LF	750	\$40.00	\$30,000.00
24	.8		INSTALL SUBDRAIN SLOPE RISER (PER DETAIL AND 4/D2)	LF	275	\$62.00	\$17,050.00
25	10		CONSTRUCT SUBDRAIN RISER TERMINATION (PER DETAIL 2/D3)	EA	2	\$2,000.00	\$4,000.00
26	14		INSTALL SUBDRAIN JUNCTION (PER DETAIL 5/D2)	EA	2	\$2,000.00	\$4,000.00
27	17		INSTALL LCRS BENCH COLLECTOR (PER DETAIL 1/D4)	LF	750	\$35.00	\$26,250.00
28	29		INSTALL LCRS SLOPE RISER PIPE (PER DETAIL 4/D2)	LF	420	\$38.00	\$15,960.00
29	30		CONSTRUCT LCRS RISER TERMINATION (PER DETAIL 2/D3)	EA	3	\$3,000.00	\$9,000.00
30	31		INSTALL LCRS JUNCTION (PER DETAIL 5/D2)	EA	2	\$3,000.00	\$6,000.00
31	22		INSTALL WRAPPED GRAVEL (PER DETAIL 1/D4)	LF	50	\$30.00	\$1,500.00

			BASE BID ITEMS	8		,	
Item No	P-F	Item Code	Description	Unit	Quantity	Unit Price	Item Total
32	9&30		CONSTRUCT LCRS TEST PORT RISER AND TERMINATION	LS	1	\$1,250.00	\$1,250.00
33			CONSTRUCT GRAVEL DRAIN (PER DETAIL 7/D1) (DELETEABLE)	ТМ	1	\$0.00	\$0.00
34	-		CONSTRUCT GEOCOMPOSITE DRAIN (PER DETAIL 7/D1) (DELETEABLE)	ТМ	1	\$0.00	\$0.00
35	11	698601	INSTALL GEOMEMBRANE – 60-MIL (PER DETAIL 1/D1)	SF	90,000	\$1.00	\$90,000.00
36	12		CONSTRUCT SLOPE LINER JOIN - (PER DETAIL 2/D1)	LF	125	\$40.00	\$5,000.00
37	20		CONSTRUCT SLOPE LINER TERMINATION – (PER DETAIL 3/D1)	LF	150	\$60.00	\$9,000.00
38	24		CONSTRUCT PHASE IIIF TO IIIE AND IIB BENCH LINER JOIN (PER DETAIL 2/D4)	LF	750	\$40.00	\$30,000.00
39	13		CONSTRUCT PHASE IIIF TOP BENCH LINER TERMINATION (PER DETAIL 5/D1)	LF	725	\$30.00	\$21,750.00
40	43		CONSTRUCT INTERCEPTOR BERM (PER DETAIL 6/D4)	LF	40	\$130.00	\$5,200.00
41	11		ÍNSTALL GCL SLOPES (PER DETAIL 1/D1)	SF	90,000	\$1.20	\$108,000.00
42	11		INSTALL 16-OUNCE GEOTEXTILE (PER DETAIL 1/D1)	SF	90,000	\$0.65	\$58,500.00
43	25&26		REPLACE 16-OUNCE GEOTEXTILE (PER DETAIL 6/D2)	SF	30,000	\$0.65	\$19,500.00
		ı, I	ESTIMA	TED T	TOTAL (BA	SE BID ITEMS)	\$1,213,320.00

			SUPPLEMENTAL WOR	KITEN	IS		
Item No	P-F	Item Code	Description	Unit	Quantity	Unit Price	Item Total
S1	-		GEOSYNTHETICS RESIN PRICE ADJUSTMENT	LB	1	\$12,500.00	\$12,500.00
S2	-	-	HDPE PIPE RESIN PRICE ADJUSTMENT	LB	1	\$12,500.00	\$12,500.00
S3			ALLOCATION FOR SUPPLEMENTAL WORK	Т&М	1	\$50,000.00	\$50,000.00
ESTIMATED TOTAL (SUPPLEMENTAL WORK ITEMS)					\$75,000		
PROJECT TOTAL (BASE BID ITEMS + SUPPLEMENTAL WORK ITEMS)				\$1,288,320.00			

ESTIMATE OF JOB COSTS

Contract/Project No. 828396

Date Opened: February 16, 2023

Project Name and Location: TAJIGUAS SANITARY LANDFILL GROUNDWATER PROTECTION SYSTEM PHASE IIIF CONSTRUCTION PROJECT IN THE THIRD SUPERVISORIAL DISTRICT

Bid Amount: \$ 1,213,320.00

Supplemental Work Total: \$ 75,000.00

Project Contingencies: \$ 76,916.00

TOTAL AUTHORIZATION: \$ 1,365,236.00

CERTIFICATE OF COMPLIANCE

This is to certify that all requirements for insurance of su	abcontractors as specified for this project have been met.
	Raminha Construction, Inc.
	BY
	Title
	Date
I am aware of the provisions of Section 3700 of the Labo	ce self-insurance in accordance with the provisions of that
	Raminha Construction, Inc.
	BY
	Title
A .	Date
Submit completed form with your Agreement, Bonds, an	nd Certificates of Insurance.

PAYMENT BOND

KNOW ALL MEN BY THESE PRESENTS:

	y of Santa Barbara of the State of California (hereinafter referred to as the County) and Raminha nc. (hereinafter referred to as Principal) have by written agreement dated
	Contract identified as:
Project Title:	TAJIGUAS SANITARY LANDEILL GROUNDWATER PROTECTION SYSTEM PHASE IIIF

CONSTRUCTION PROJECT IN THE THIRD SUPERVISORIAL DISTRICT

•

(Hereinafter referred to as the Contract) and

County Project No. 828396

That, pursuant to law and to said Contract, and before entering upon the performance of said Contract, the principal is required to file with the County a good and sufficient bond to secure the payment of labor and

mate	erials	claims.

NOW, THEREFORE, said Principal and	

as corporate surety (hereinafter referred to as Surety), are held firmly bound unto the County in the amount of \$1,213,320.00 for the payment of which Principal and Surety bind themselves, their heirs, executors, administrators, successors and assigns both jointly and severally. The payment bond must also contain provisions which automatically increase amounts thereof and/or time of completion or both for all change orders, extensions and additions to the work provided pursuant to this Agreement. Surety shall be and hereby warrants that it is currently listed as an insurer authorized and admitted by the California Insurance Commissioner to issue surety insurance in the State of California, in the list published by the California Department of Insurance.

THE CONDITION OF THIS OBLIGATION IS SUCH that if said principal, his or its subcontractors, heirs, executors, administrators, successors, or assigns, shall fail to pay any of the persons named or referred to in Section 9100 of the California Civil Code, or amounts due under Unemployment Insurance Code with respect to work or labor performed by any such claimant, or for any amounts required to be deducted, withheld and paid over to the Employment Development Department from the wages of employees of the Contractor and his Subcontractors pursuant to Section 13020 of the Unemployment Insurance Code with respect to such work and labor as required by Division 3, Part 4, Title XV, Chapter 7 (commencing at Section 9550) of the California Civil Code, or this bond, then said Surety will pay for the same, in an amount not to exceed the amount hereinafter set forth.

This bond shall insure to the benefit of any and all persons, entities, companies and corporations named or referred to in Section 9100 of the California Civil Code, so as to give a right of action to them or their assign in any suit brought upon this bond.

And the said Surety, for value received, hereby agrees that no change, extension of time, alteration or addition to the terms of the Contract, or to the work to be performed thereunder, or the Specifications accompanying the same, shall in anywise affect its obligations on this bond, and it does hereby waive notice of any such change, extension of time, alteration or addition to the terms of the Contract or to the Specifications.

PAYMENT BOND

In the event suit is brought upon this Bond by County and judgment is recovered, Surety shall pay all costs incurred by the County in such suit, including a reasonable attorney's fee to be fixed by the court.

Death, illness, disability, or disqualification of the Principal shall not relieve Surety of its obligations hereunder.

Principal	Surety
BY:	Signature of Attorney-in-fact
DATED:	Address
	City, State, Zip
Surety's Agent for Service of Process (located wit	hin the State of California):
	Name of Agent
	Address
	. 100.000
	City, State, Zip
	Fax Number

NOTE: Signature of those executing for Surety must be properly acknowledged.

PERFORMANCE BOND

KNOW ALL MEN BY THESE PRESENTS:

That the County of Santa Barbara of the State of California (hereinafter referred to as the County) and Raminha Construction, Inc. (hereinafter referred to as Principal) have by written agreement dated, entere into a Contract identified as:
Project Title: TAJIGUAS SANITARY LANDFILL GROUNDWATER PROTECTION SYSTEM PHASE IIIF CONSTRUCTION PROJECT IN THE THIRD SUPERVISORIAL DISTRICT
County Project No. 828396
(Hereinafter referred to as the Contract) and
That, the Principal is required under the terms and conditions of said Contract to furnish a bond for the faithful performance of Contract.
NOW, THEREFORE, said Principal and

as corporate surety (hereinafter referred to as Surety), are held firmly bound unto the County in the amount \$1,213,320.00 for the payment of which Principal and Surety bind themselves, their heirs, executors, administrators, successors and assigns both jointly and severally. Surety shall be and hereby warrants that it is currently listed as an insurer authorized and admitted by the California Insurance Commissioner to issue surety insurance in the State of California, in the list published by the California Department of Insurance.

THE CONDITION OF THIS OBLIGATION IS SUCH that if the Principal, his heirs, executors, administrators, successors, or assigns, shall perform all of the covenants, conditions and agreements in said Contract and any alteration thereof made as herein provided, in his or their part, to be kept and performed at the time, and in the manner therein specified, and shall indemnify and save harmless County, its officers, agents, and employees, as therein stipulated, then this obligation shall become null and void; otherwise it shall be and remain in full force, virtue and effect.

And the said Surety, for value received, hereby agrees that no change, extension of time, alteration or addition to the terms of the Contract, or to the work to be performed thereunder, or the specifications accompanying the same shall in anywise affect its obligations on this bond, and it does hereby waive notice of any such change, extension of time, alteration or additions to the terms of the Contract or to the work or to the specifications.

PERFORMANCE BOND

In the event suit is brought upon this Bond by County and judgment is recovered, Surety shall pay all costs incurred by the County in such suit, including a reasonable attorney's fee to be fixed by the court.

Death, illness, disability, or disqualification of the Principal shall not relieve Surety of its obligations hereunder.

Principal

BY:

Signature of Attorney-in-fact

Address

City, State, Zip

Surety's Agent for Service of Process (located within the State of California):

Name of Agent

Address

City, State, Zip

City, State, Zip

Fax Number

NOTE: Signature of those executing for Surety must be properly acknowledged.